Basvagn MWS/S manuell

9-510

1 1 f || o |

| e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e [ e e Y O e o e e e o e e o e o o [ e (-]
/i ,

/

w
R
oc
—_
w
=
=
=
[= =
o
i
w
L
S
o
o
BE
o
=

Wi




Y = = W e W e e e e e e e e e e e e e e e e e e s e e s e e e e e s e e}

s o e e e e e e e e e e e e e e e

[ e e e e e e |

/

o

e e e s e e e e e e e e e e e e e e e e e e Y e e e e e e s e o e e e e e e e e e e e e e e e e e e e e e e s J e

>

<~

l&ll&oco

8,4x16x1,6

520 M10x30 M8
Bx 4x

M8x16

M8x25

4x

M8x70

8,4x22x1,5

17x

9x

14x

1x

9x






® O o

M8 8,4x22x1,5 8,4x16x1,6  M8x70
8x 8x 8x 8x

M8x16 M8

i v v ) w—

o g e G s W s G e (e e {

M8 84x22x15  84x16x16 M8x70
1x 1x 1x 1x



®o b

M8

8,4x16x1,6  M8x25

8x

4x

4x




L e e s e e e e e e e e e e e e e e e e e e e e e e e e e e e Y e [ e [}
1

| L |

e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e s |

5x20

Bx

Il

<)
s e e s e e s e |

===

<3




I A
I
| pPEooooooogono
I

oL |

I
===}




